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T+ 1 =2 2+1=3 3+ =9 U+ =5 5+ =6
11 +2=3 2+2=94 J+2=5 Y+2=6 5+2=7
| +3=Y 2+3=5 J+J=6 Y4+3=7 6E+3= 8
| +4=5 2+4Y=6 J+Y=7 H+4Y=8 5+4=9
| +5=6 2+5=7 J+6=8 Y+5=9 5+5 = 10
| +6=7 2+6=8 J+6=19 H+6=10 6+6 = ||
| +7=8 2+7=9 3+7=10 H+7=1]| 5+7 = 12
| +8=19 2+8- 10 J+8=|| H+8=12 65 +8 =13
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| +8=9 2+8-10 3+8=11 H+8=12 5+8 =13
| +9=10 2+9=11- |3+9=12 4+9=13 5 +9 = IY
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6+2=8 7+2=19 B8+2=10 qe2=|| 1I0+2= 11
6+3=9 7+3=10 B+3=1i G+3=12 I0+3=12
6+4=10 7+4=1| B+Y=12 F+4=13 10+4=13
6+5=11 7+5=12 B+5=13 q+6= Y I0+5= 14
6+6=12 7+6=13 B+6=1Y4 9+6=15 I0+6=15
|6+7=13 7+7=1Y B+7=15% qQ+7 =16 0+7=16
6+8= 14 7+8=15 8+8=16 q+8=17 I0+8=17
6+9=15 7+9=16 B+9=17 9+9= 18 I0+9=18
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e There are 60 seconds in | minute.
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MATH Help
1he¢ Problem Solving Method

' What do | know?

What do [ need 1o find out?

What 15 the question?

Decide whether to add or subtract

Test your idea and draw a picture if necessary.

Check vour answer

[Does your answer make sense’?

@ & & & ® & @&

o [nall

s Total

s All topether
o Plus

Subtruction:
How many left?

How many less?

How mamy more?

How many fewer?

What's the difference?

Minus OTeachWithMe.com
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What do [ know?
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-

n
How many left?

¢ How many less?

Test your idea and draw a picture if necessary.

Decide whether to add or subtract.
Check your answer.

What do I need to find out?
What is the question?
Does your answer make sense?

What's the difference?

How many more?
How many fewer?
Minus

All together

Plus

In all
Total

-
-
L ]
-
L ]
-
L ]
L ]
L
L]
-
-
L]
L]
L]
L

Subtra

The Problem Solvin

Key Words For...

Addition:

The Problem Solving Method

*® & & & & @& @

- MATH Help

What do I know?

What do 1 need to find cut?

What is the question? -

Decide whether to add or subtract.

Test your idea and draw a picture if necessary.
Check your answer.

Does your answer make sense?

Key Words For...

.Addition:

L
..
L ]

In all
Total
All together
Plus

Subtraction:

. & & & » =

How many left?

How many less?

How many more?
How many fewer?
What’s the difference?
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first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
Ordinal Numbers

| st 2nd 3rd |_|Th 6’rh 6’rh 7‘rh 8*rh q*rh | O 'l'h
first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
Ordinal Numbers

| st 2nd 3rd |_|’rh 5’rh 6’rh 7’rh 8Th th | O Th
first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
Ordinal Numbers

| st 2nd 3rd |_|’rh 5’rh 6’rh 7’rh 8+h q*rh | O 'l'h
first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
Ordinal Numbers

| st 2nd 3rd |_|Th 6’rh 6’rh 7‘rh 8*rh q*rh | O 'l'h
first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
Ordinal Numbers

| st 2nd 3rd |_|‘rh 5‘rh 6‘rh 7‘rh 8Th qfh | O Th
first | second | third | forth | fifth | sixth | seventh | eighth | ninth | tenth
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. coin value'heads/front!tails/back

penny | |¢

nickel | b ¢

dime

Torch, {:-|.F-ve &
ook branch_

quarter| 20¢

©TeachWithMe.com | George Washington : Eagle




+ails/back

~coin | value h.ea-r.:ds/ﬁ'_r;)m:r

~coin _Tva|ue heads/front tails/back

o L (S EE I
: S

“:‘J: 'l-..&'ra

penhy

nickel

dime

quar'ter
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Money
Addition & Subtraction

v
n
N
2
D
2.



Skip Counting ©TeachWithMe.com
By 2':

246810121416 18 2022 24 26
28 30 32 34 36 38 40

By 3's
36912151821 2427 30

By b’s
b 10 15 20 25 30 3b 40 45 50 55 60
65 70 75 80 85 90 95 100

By 10%
10 20 30 4O 50 60 70 80 90 100




5‘(![3 Counhng CTeachWithMe.com
1 By 2s: '

24681012 14 16 18 20 22 24 26
28 30 32 34 36 88 4O

By 3's
3691215 1821 2427 30

By B's |
5 10 1520 25 30 35 40 45 50 55 60
65 70 75 80 85 90 95 100

By 10's
10 20 30 40 50 60 70 80 90 100

Skip Counﬁng ©TeachWithMe com
By 2’s:

2468 101214 16 18 20 22 24 26
28 30 32 34 36 38 HO

By 3’s
36912151821 2427 30

By b’s
5 10 1520 25 30 35 40 45 b0 bb 60
65 70 75 80 85 90 95 100

By 10% .
|0 20 30 40 50 60 70 80 90 100
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